This report contains the transfers results.

4,596

1,150

Contest Name

Ward 17 - Motherwell West

Valid Votes

Positions to be Filled

Quota

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
David CRICHTON	Scottish National Party (SNP)	1,261
Lindsey EVANS	Scottish National Party (SNP)	626
Paul KELLY	Scottish Labour Party	1,105
Megan MCCANN	Scottish Labour Party	363
Gordon Thomas MILLER	Scottish Greens - Think Global Act Local	372
Lorraine NOLAN	Scottish Conservative and Unionist	869
	Tota	4,596

Candidate David CRICHTON Elected with 1,261 votes, being in excess of the quota of 1,150

This report contains the transfers results.

# Stage 2 - Surplus of David CRICHTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lindsey EVANS	1,085	0.08802	95.50170
Transfer to Paul KELLY	51	0.08802	4.48902
Transfer to Megan MCCANN	17	0.08802	1.49634
Transfer to Gordon Thomas MILLER	68	0.08802	5.98536
No further preference	38	0.08802	3.34476
Not transferred due to rounding			0.00678
	Total		111.00000

This report contains the transfers results.

## Stage 3 - Exclusion of Megan MCCANN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lindsey EVANS	15	1.00000	15.00000
Transfer to Paul KELLY	254	1.00000	254.00000
Transfer to Gordon Thomas MILLER	23	1.00000	23.00000
Transfer to Lorraine NOLAN	27	1.00000	27.00000
Transfer to Lindsey EVANS	7	0.08802	0.61614
Transfer to Paul KELLY	3	0.08802	0.26406
Transfer to Gordon Thomas MILLER	5	0.08802	0.44010
Transfer to Lorraine NOLAN	1	0.08802	0.08802
No further preference	44	1.00000	44.00000
No further preference	1	0.08802	0.08802
Not transferred due to rounding			0.00000
	Total		364.49634

This report contains the transfers results.

# Stage 4 - Surplus of Paul KELLY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lindsey EVANS	190	0.15673	29.77870
Transfer to Gordon Thomas MILLER	279	0.15673	43.72767
Transfer to Lorraine NOLAN	298	0.15673	46.70554
Transfer to Lindsey EVANS	22	0.01379	0.30338
Transfer to Gordon Thomas MILLER	17	0.01379	0.23443
Transfer to Lorraine NOLAN	2	0.01379	0.02758
No further preference	592	0.15673	92.78416
No further preference	13	0.01379	0.17927
Not transferred due to rounding			0.01235
	Total		213.75308

This report contains the transfers results.

## Stage 5 - Exclusion of Gordon Thomas MILLER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lindsey EVANS	220	1.00000	220.00000
Transfer to Lorraine NOLAN	54	1.00000	54.00000
Transfer to Lindsey EVANS	61	0.15673	9.56053
Transfer to Lorraine NOLAN	40	0.15673	6.26920
Transfer to Lindsey EVANS	49	0.08802	4.31298
Transfer to Lorraine NOLAN	2	0.08802	0.17604
Transfer to Lindsey EVANS	4	0.01379	0.05516
No further preference	121	1.00000	121.00000
No further preference	178	0.15673	27.89794
No further preference	22	0.08802	1.93644
No further preference	13	0.01379	0.17927
Not transferred due to rounding			0.00000
	Total		445.38756

This report contains the transfers results.

## Stage 6 - Exclusion of Lindsey EVANS

1,001.12859

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lorraine NOLAN	224	1.00000	224.00000
Transfer to Lorraine NOLAN	117	0.15673	18.33741
Transfer to Lorraine NOLAN	287	0.08802	25.26174
Transfer to Lorraine NOLAN	8	0.01379	0.11032
No further preference	637	1.00000	637.00000
No further preference	134	0.15673	21.00182
No further preference	854	0.08802	75.16908
No further preference	18	0.01379	0.24822
Not transferred due to rounding			0.00000
	Total		1,001.12859